|

1. TE4
THE4 A6 AR EE KBRS TE
THEHA "B W UL FEE o) 7T oy S T b PN A
2. THEHNE
1)  HEI4 FERE ) [EEEFAT FRsA KGR
2) &£ T f ) T2
3) T i 175 H [ H 40 64 9H21H

= SFn T 3H14H

4) TEyE




(e MR VRS ] 7 i T S PR 24

Vol =
FER N E
TH4 | SM6EE (58 MXEREEHN TH
TEHEX Sy - THE - R B {7 % & # A B
FLLt - =X 24, 774, 299
LT = 6,914, 422
HRHEI T = 666, 030 | #EH! 1, 700 m3
LY A7 iy b FRLE PEEME 5, 000m3AH ;
A 90 m3
T EROLASN OB /NS (BEHE)
T 2 6, 125, 548 | B& A (L) BE 1+ 1, 040 m3
2. 5mAT ;
BRI (Bite) R+ 400 m3
2. 5mPL 4. OmARTi ;
BRI (Bite) R+ 520 m3
4. 0mPL E
FEHA O-27) 1 X
+Hw 550, 000m3 AT ;
T wb AT 1 2V
(ZZEM X —H5)
0 Cadl- EHIRY £5T) ;
Rkt A = 122,844 | iEmEET (B 1-50) 290 m2
T i S O I BRI
LR L 2 6, 043, 890
fiA T 2 3,955,560 |IE% 2, 380 m2
R T 500m2LA E
LERAVE T LR L =X 1,944,767 | SERAVATRLIRAE TAT RLyEA% 659 m2
=X 10em ;
FEHA O-27) 1 X
+Hw 550, 000m3 AT ;
b T 1 X
(ZZEM X —H5)
0 Cadl- EHIRY £5T) ;
mtT = 143,563 |7+ (FRE 1) 70 m3
FEOA O=20) 1 =X




FH

HNIRE

T
Psi

(e MR VRS ] 7 i T S PR 24

T=E4

TG FE  EE X BRI T

LKy - LA - FER

WAL

&
i

il

o
=

+ +850, 000m3ATH ;
b E

ZZHHIX -

0 Cadl- EHIRY £5T) ;

7,307,613

591, 292

i
T

HREL
T

FEEEIE

TAT 7 MEEE T

3,761, 858

TR s (BE - BRI
BAEITyvrT/ RC-40 11 L0 &2
g (I - BIF )

150mm ;

2,

FIAEBORIIET A, (20) H34E 50mm 3. Omi ;

750

939

m2

av))- M T

1,263, 729

TR s (BE - BRI
BTy RC-40 fH EVE
) - ek
18-8-40 (&i47) t=150mm ;

150mm ;

242

242

m2

m2

A T

1,690, 734

HRHGEBESN T vy

CFE (180/210X 300 X 600) ;
MR T ny)

CHE (150 X 150 X 600) ;
Salkav)) - GREERR T 0y H)

300 X350 18-8-40 (/&4F)
i a7y —h

300X350 18-8-40 (&4F)

48

40

48

53

T EPRtiE T

2, 354, 400

It R iE T

1, 664, 550

HE O A

mm ;

HR DR AME 114. 3mm DK AME X 850

27

B 1Al T

689, 850

5 v (BAIET) B LAl
Mt L lm 3v/7)— P ESA

70




;
T
iy
=
I

(e MR VRS ] 7 i T S PR 24

THE4 | W6 EE KBRS T4

TEHEX Sy - THE - R B {7 % & # il pall 2! R
HEE L = 431, 154
HEETE LT X 254,226 | 3v7)-MHEXE YU L 28 m3
A EY) BhkE T
EhAERR G 1 2V
TAT 7 MEEERR 15emPL T
EhAE AR AR 123 m2
TA77 VMRS BEERE e m
TR AL T = 176,928 | 28 m3
av ) -bik (BER5)
DO 6 m3
TAT 7V
By 28 m3
av ) -bik (BER5)
By 6 m3
TAT 7V
% T = 1, 722, 820
THEHER T = 1,671,220 | TR HEKE L 1 =X
2. 5mPh 4. OmATw ;
T HE RS 1 X
IR IR % 1 X
4. 0mPL E
BRDF 1 =X
RC-40 ¥J& 100mm ;
IREIR 1 X
AR IEE BT 2 51,600 |A3iMFHE (B 1 =
RN X = 24, 774, 299
B =X 2, 800, 600
Im iR Ex % =Y 353, 600




(e MR VRS ] 7 i T S PR 24

R PERE
THE4 | A6 HE X R T
THEXSy - THE - FE5 H7 & & # i Gl 2 N
EsZREgiis ¢ 2V 1 33,600 |fi CFAd 2 1 =
BUGBREIUEL (REH L) 2V 1 320, 000
sty (R L) 2V 1 2, 447, 000
ol T 2V 1 27, 574, 899
e R E20 1 9, 623, 000
T AT 2V 1 56, 788, 429
— e PR E20 1 10,011,571
N E20 1 66, 800, 000




(e ey VL ALE o] 7 K T PN

== /oA = =
FEAENGRE e
T4 | SF6EE  (5E KRR T3
TEHX4y « Tfd - FER B Az £ & #A i il A R
s e = 12, 399, 530
R [ 6D T = 12, 399, 530
FR[E 67 my) T Y 12,399, 530 | JHHAR[E 7 ny ) RifE 290 &
2t 7y fERE (SEEE) 1,99t
THIZAR [E D7 ny ) e 290 &
(KT X —515)
2.5tLATF FEIAA-HEAT T 8RR 58 2. 0kmPA T
FRIE D7 wy ) HEft 290 ]
W7 my) 7 ey FERE (SR &) 1.99 t 7wy i
NI
[ERAE Xy = 12, 399, 530
HiE 2 = 1, 581, 000
Mo R 2 = 185, 000
BGRESGESE (5 L) = 185, 000
B (FEHL) = 1, 396, 000
T = 13, 980, 530
Bl gy = 5, 610, 000
T =5l = 19, 590, 530




